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QUOTE OF THE DAY

Don't be DISAPPOINTED
If people refuse to help you.

Remember the words |
of Albert Einstein: '*-'

“I'm THAN KFU

those who said 'NO
because of them,

A did it ySSIR” )
LIVE, BELIEVE, %S@
Good orning




HOMEWORK Find the error

Choose the word, which is MOST OPPOSITE/in

meaning of the word printed in bold as used in the

passage. .
CEmbedded (4o yoidiing
T

A. Fixed

B. Encapsulate
D. Ingrain

E. Entrench




TODAY’S WORD

ALLUVION :

a gradual increase of land on a shore or a river

bank by the action of water, whether from

natural or artificial causes.J
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\/ ' WHERE?
TO WHAT EXTENT?

/ WHY?
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YOURSELF




Although he is usually rude (a) / with everyone
he (b)/ behaved’(c)/ with all of us today.(d)

/ No Error (e)
/

® 6

Solution : Nicely




All of them work(a)/very carefully(b)/ right
from (c)/ the beginning till they finish.(d)

Solution : No Error




More than half the food products (a)/ targeted
at babies and toddlers have (b) / a high sugar

/q

content and are (c) excesswe eet.(d) No

‘/

T

error (e) ﬁ/ﬁ
,t‘!""

X244

Solution : Excessively




Shikha thought that she (a)/ would not pass in
the examination (b) / althoughshe did not

answer (c¢) / most of the gyestion@(d) No

error (e)

W)\&

Solution : Correctly




The children(a)/ have been practicing (b) /
mor their (c) / School sports day and so

they dese he first prize.(d) No error (e)




Although they had (a)/ a lot of material comfort
(b) / it was never very enough (c) / to satisfy

their greec greed.(d) No/error (e

Solution : Enough serves ‘the purpeose of’ angg#
cannot be modified b ‘veryD B




The crucial point to (a)/ be discussed at the (b) /
meeting is how to (c¢) / wellrmplement the

policy.(d) No error (e) @




HOMEWORK Find the error

He (a)/ could only eat raw food (b) / because of digestion issues (c)
/ since his childhood.(d) No error (e)







